
Call us if you can't find or identify the part you need 

 
 
Mack Front Suspension - CHN/CHU Pinnacle™, CTP/GU Granite™,   TD Titan™, 
CXN Vision™, CXP/CXU Pinnacle™ 
 

 



Call us if you can't find or identify the part you need 

Mack Front Suspension - CHN/CHU Pinnacle™, CTP/GU Granite™,   TD Titan™, 
CXN Vision™, CXP/CXU Pinnacle™ 
 
 Part # Description OEM # Price Note 
17 62-1092 8 Leaf Spring (2PD/8) 2QK4145  /  

25195110 $481.17 
Threaded Bushings 

17 62-1094 10 Leaf Spring (3PD/10) 2QK4146  /  
25195071 $477.00 

Threaded Bushings 

17 62-1096 10 Leaf Spring (3PD/10) 2QK4147  /  
25195055 $502.50 

Threaded Bushings 

17 62-1132 2 Leaf Parabolic Spring 
(2PD/2) 

2QK4139  /   
25194641 $411.71 

Threaded Bushings 

17 62-1108 4 Leaf Parabolic Spring 
(3PD/4) 

2QK4140  /  
25195068 $515.24 

Threaded Bushings 

17 62-1104 3 Leaf Parabolic Spring 
(2PD/3) 

2QK4136  /  
25194810 $455.90 

Threaded Bushings 

17 62-1044 2 Leaf Parabolic Spring 
(PD/2/PD) 

2QK4100  /  
25175027 $310.20 

Rubber Bushings 

17 62-968 3 Leaf Parabolic Spring 
(PD/3) 

2QK3435M  /  
25175026 $320.09 

Rubber Bushings 

17 62-968HD 3 Leaf Parabolic Spring 
(PD/3) 

N/A 
$373.23 

Rubber Bushings 

1 338-2307 Hanger; Roadside 20572709 $138.85 A 
1 338-2308 Hanger; Curbside 20572708 $138.85 A 
1 338-2309 Hanger; Roadside 20991903 $102.01 B 
1 338-2310 Hanger; Curbside 20991904 $123.28 B 
1 338-2365 Hanger; Roadside 20834255, 

51QK5153M   
B 

1 338-2366 Hanger; Curbside 20834256, 
51QK5154M   

B 

1 338-2311 Hanger; Roadside 51QK5137M2 $121.47 C 
1 338-2312 Hanger; Curbside 51QK5138M2 $121.47 C 
1 338-2093 Hanger, Shackle; LH/RH 51QK376M, 

20529993 $76.08 
VN & Mack CXN; 
w/ 11 13/16" frame 

1 338-2094 Hanger, Shackle; LH/RH 51QK374M, 
20529992 $83.57 

VN & Mack CXN; 
w/ 11 7/16" frame 

2 TB-78 Bushing; 45mm OD x 
105mm Lg x M32 - 4 
Thread 

  

$19.30 

  



Call us if you can't find or identify the part you need 

3 RB-289 Rubber Bushing; 2 1/4"OD 
x 27mm ID x 6 3/4"Lg 

10QK3109 
$36.76 

  

4 RB-288 Rubber Bushing; 2 1/4"OD 
x 24mm ID x 110mm Lg 

10QK3108, 
25173955 $39.91 

High Confinement 

4 RB-322 Rubber Bushing; 2 1/4"OD 
x 20mm ID x 110mm Lg 

20925014 
$47.85 

High Confinement 

4 RB-341 Bushing; 50mm OD x 
20mm ID x 110mm Lg 

  
$30.72 

Optional CXN, CXP 
& CXU 

5 327-533 Spring Pin, Threaded 10QK3105M $17.15   
5 334-2090 Assembly, Bolt; M24 x 

220mm Lg 
  

$29.77 
  

5 334-2185 Kit, Bolt; M20 x 220mm Lg   $17.11   
6 VS-1 Seal, Grease 1075725 $4.40   
7 330-340 Kit, Shackle; Urethane   $118.19 Include TB-78 
7 330-396 Kit, Shackle   $127.49 Include RB-289 
8 330-339 Side Bar; 90mm c/c 22QK314M $23.81 Use w/327-533 
8 330-379 Side Bar; 5" c/c 22QK311M $26.22 Use w/RB-289 
9 334-538 Bolt; 1/2"-20 x 3"Lg   $1.55 Use w/330-339 
10 334-2186 Spacer; 30mm 20499503, 

64486 $12.71 
  

10 334-2187 Spacer; 38mm 20499505, 
64487 $13.74 

  

11 338-2369 Plate, Top; Roadside 20QK536M 
$36.03 

Use w/Round Bend 
U-Bolt 

11 338-2370 Plate, Top; Curbside 20QK537M 
$36.03 

Use w/Round Bend 
U-Bolt 

12 325-354 Bump Stop 12QK2198M, $9.10   
13 338-2315 Wedge, Camber; Spacer 24QK47M, 

20435532 $41.29 
6°; 28mm 

13 338-2316 Wedge, Camber; Spacer 24QK46M, 
20435531 $40.27 

6°; 20mm 

13 338-2317 Wedge, Camber; Spacer 13QK419M, 
20353488 $58.29 

3.5°; 32mm 

14 334-2230 Washer 8084707 $18.80   
15 361-676 Kit, U-Bolt; 3/4" x 4" x 8-

1/2" 
7QK2179M, 

$25.39 
  

15 361-621 Kit, U-Bolt; 7/8" x 4 x 10" 7QK2182M $31.51   
15 361-678 Kit, U-Bolt; 3/4" x 4" x 8" 20560239 $25.39   
16 M66886 Shock Absorber   $54.50   



Call us if you can't find or identify the part you need 

16 M65494 Shock Absorber   $74.97   
16 M65710 Shock Absorber   $0.00   
16 M66833 Shock Absorber   $55.01   
16 M65160 Shock Absorber   $77.86   
16 M65130 Shock Absorber 14QK3114M $66.64   

 
 


